PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
FORESTRY						
Pulpwood						
Pine				14,717	cords	
Hardwood				32,304	cords	
Pulpwood (Total)				47,021		
Chip & Saw				209	cords	
Saw Timber						
Pine				3,120,855	board feet	
Hardwood				4,267,801	board feet	
Saw Timber (Total)				7,388,656		
Total Pulpwood, Chip & Saw,	,					\$6,379,424
Saw Timber FOB Mill						Ф2 211 020
Total Forestry Stumpage	*			0.000		\$3,211,039
Christmas Trees	ক			9,000	trees	\$360,000
Forestry (Total)						\$6,739,424
FRUITS	.1.	2.0	00.00	100	•	Φ.5. 400
Peaches	*	2.0	90.00	180	bu.	\$5,400
Fruits (Total)		2.0				\$5,400
FEED GRAINS	*	200.0	(0.00	10.000	1	Φ40.0 C 0
Corn	*	300.0	60.00	18,000	bu.	\$40,860
Feed Grains (Total)		300.0				\$40,860
HAY FOR SALE	47	7 000 0	2.00	14.000	4	Ф 7 00 000
Grass	47	7,000.0	2.00	14,000	tons	\$700,000
Hay for Sale (Total)	25.500	7,000.0				\$700,000
HOME GARDENS	25,500					\$7,650,000
NURSERY CROPS	0					¢1 000 000
Floraculture & Bedding Plants	8				acre	\$1,000,000

PLANT ENTERPRISES PRODUCTION

	PLANT ENTERPRISES PRODUCTION						
	Number of		Yield per	Total	Units of	Gross Farm	
Crop	Producers	Acres	Acre	Production	Measure	Value	
NURSERY CROPS							
Woody Ornamentals	*				acre	\$300,000	
Nursery Crops (Total)						\$1,300,000	
PECANS							
Native	500	200.0	250.00	50,000	lbs.	\$50,000	
Pecans (Total)		200.0				\$50,000	
SOD PRODUCTION	*	70.0			acre	\$378,000	
SOYBEANS	*	270.0	45.00	12,150	bu.	\$75,452	
SUGARCANE							
Raw Sugar	*	535.0	4,899.00	2,620,965	lbs.	\$318,447	
Molasses		535.0	147.00	78,645	gal.	\$11,404	
Sugarcane (Total)		535.0				\$329,851	
VEGETABLES							
Collards							
Fresh	20	9.0	500.00	4,500	doz. bunches	\$31,500	
Collards (Total)		9.0				\$31,500	
Mustard (Fresh)	20	200.0	500.00	100,000	doz. bunches	\$700,000	
Okra (Fresh)	7	3.0	250.00	750	bu.	\$18,750	
Vegetables (Total)		212.0				\$750,250	
WHEAT	*	30.0	45.00	1,350	bu.	\$4,388	
TOTAL ALL PLANT ENTE	RPRISES					\$18,023,624	

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Dicharias	Number of	Units of	Total	Units of	Gross Farm
Fisheries	Producers	Production	Production	Measure	Value
AQUACULTURE					
Catfish (Farm)	*	6 Acres in Prod.	24,000	lbs.	\$16,320
Alligators (Farm)			1,914	ft.	\$32,553
Aquaculture (Total)					\$48,873
FRESHWATER FISHERIES					
Freshwater Finfish **			127,180	lbs.	\$64,569
Freshwater Fisheries (Total)					\$64,569
FUR ANIMALS			419	pelts	\$3,075
ALLIGATORS (WILD)			225	ft.	\$4,725
HUNTING LEASES					
All Other Game	60	25,000 No. Acres		acre	\$137,500
		Leased			
Hunting Leases (Total)					\$137,500
HONEY	54	120 No. Hives	10,800	lbs.	\$7,992
TOTAL ALL FISHERIES & V	WILDLIFE ENTERPRISES				\$266,735

^{**} The marine, freshwater and oyster data presented here are for the year 2003 rather than 2004. Release of fisheries landings data by the collecting agencies occurs 4-5 months after the fact. Another reporting system was used in previous years, so this year's data are not directly comparable to that of previous years.

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES					_
Steer Calves					
300-400 lbs.			383	head	\$169,627
400-500 lbs.			1,270	head	\$641,109
500-600 lbs.			2,480	head	\$1,386,506
600-700 lbs.			1,375	head	\$875,875
Steer Calves (Total)					\$3,073,117
					Page 3 of 6

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES					
Heifer Calves					
300-400 lbs.			294	head	\$118,531
400-500 lbs.				head	\$453,448
500-600 lbs.			1,905	head	\$1,005,526
600-700 lbs.			1,060	head	\$633,880
Heifer Calves (Total)			ŕ		\$2,211,384
Yearling Cattle					
600-700 lbs.			575	head	\$366,275
Yearling Cattle (Total)					\$366,275
Cow-Calf Pairs			600	pair	\$570,000
Cull Cows			840	head	\$344,933
Cull Bulls			80	head	\$73,476
Cattle & Calves (Total)	315	12,000 No. Cows			\$6,639,185
DAIRY					
Dairy Cows					
Milk	*	275 No. Adult Cows	4,515,485	pounds	\$744,152
Bred Heifers			5	head	\$7,500
Adult Cows			12	head	\$15,000
Cull Cows				head	\$40,500
Bull Calves			140	head	\$8,400
Breeding Age Bulls			5	head	\$5,500
Dairy Cows (Total)					\$821,052
Dairy (Total)					\$821,052
HORSES					
Brood Mares					
Race Horses	36	525 No. Brood Mares		head	\$3,440,000
Show Horses	450	1,050 No. Brood Mares	843	head	\$2,950,500
					Page 4 of 6

	AINIIVIA	<u>AL ENTERPRISES</u>	S FRUDUCTIO	17		
Animal	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
HORSES						
Recreation Horses	1,200	2,800	No. Brood Mares	1,900	head	\$2,850,000
Brood Mares (Total)						\$9,240,500
Stud Fees						
Race Horses		6	No. Stallions	75	mares bred	\$150,000
Show Horses		25	No. Stallions	500	mares bred	\$750,000
Recreation Horses		50	No. Stallions	500	mares bred	\$100,000
Stud Fees (Total)						\$1,000,000
Race Horses	49			920	head	\$9,200,000
Show Horses	525			1,865	head	\$7,460,000
Recreation Horses	2,600			3,800	head	\$5,700,000
Horses (Total)						\$32,600,500
POULTRY						
Broilers	*			3,500	lbs.	\$2,625
Edible Eggs	*	2,500	No. Hens	35,000	doz. eggs sold	\$29,400
Cull Hens				4,500	lbs.	\$675
Poultry (Total)						\$32,700
RABBITS						
Fryers	6	1,500	No. Animals	6,000	lbs.	\$4,800
Does	6	500	No. Animals		lbs.	
Rabbits (Total)						\$4,800
SHEEP						
Wool		100	No. Sheared	700	cwt.	\$196
Slaughter Lambs				30	head	\$3,656
Feeder Lambs				70	head	\$4,200
Stocker Sheep				30	head	\$2,250
Cull Sheep				30	head	\$1,650
*						

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
Sheep (Total)	*	100 No.Breeding Ewes			\$11,952
GOATS					
Show Goats			100	head	\$18,500
Slaughter Goats			250	head	\$26,250
Stocker Goats			100	head	\$8,500
Cull Goats			80	head	\$4,800
Goats (Total)	25	400 No. Does			\$58,050
SWINE					
Show Pigs			500	head	\$165,000
Feeder Pigs			700	head	\$32,200
Slaughter Hogs			1,600	head	\$249,600
Culls			150	head	\$16,800
Swine (Total)	*	200 No. Sows			\$463,600
TOTAL ALL ANIMAL	ENTERPRISES				\$40,631,839
EAST BATON ROU	GE PARISH TOTA				\$58,922,198